
Bicycle Shed

ASSEMBLY INSTRUCTIONS

If you have any questions, please contact us : hofficeservice@gmail.com

A

A

3A

3

3A

3
3A

3

3A

3

3A

3

3A

3

1A

1A

2A

4

4

B
B

2B
2B

2B
2B

A1

1

1A
1

1

A1

2

2A

2

2A

2

Dimension : 37 * 70.8 * 61.8 inch



Parts

02

1 X3 1A X3 2 X3

2A X3 2B X4

4 X2

B X2

X6

X9 M6X55

X4

3 X6

A X2

02

3A X6

X1A1 X2

X13

X4 縄

Check and make sure you get the components on the list, contact us for any missing.



Step 1

03

Step 2

A

A

A

3A

3A
3A

3A

3A

4

B
B

B

2B

2B

2B

2B

2B

2B

2B

2B
B

B

2B

2B

2B B

A1

A1

A1

A

A
A1

4

4

4

4



M6X55

M6X55

Step 3

Step  4

04

X3

M6X55

X6

1A

2
1

1A

1A

1A

1

3

1

1

1
2

2A

1A

1A

1A

2

2

2A

2A

3

3

3

3
3

1

1
2

2A

M6X55

2 1

1A

2A

2A
2

1/1A

3
M6X55

1A1 2

3

Note : Make sure the nut is installed in the right direction.

Note : Make sure the nut is installed in the right direction.



Step  5

Step  6

05
X13

A

A

3A
3A

3A

3

2

2A
2A

3

3A

3A

3

3

3

3A
3A

A1

A1

2

Note : Please put the cord through the cloth hole.



X4

Step 7

Step 8

06
X4

Note : The nail is suitable for soil ground. 
Need to pay attention when using in concrete floor!




